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There are 46 children in an assembly hall.

Half of the children leave the assembly

hall and 56 more children enter the

assembly hall.

How many children are in the assembly

hall now?

Arrange these amounts in order, starting

with the smallest amount

£0.85 £10
£6.20 91p £1.77

smallest largest

How many vertices does a cube have?
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David drives 4.8 miles to Bristol and a
further 6.7 miles to Bath.

Work out how far he drives in total.

Ashley buys three pens, each at the same
price.

He pays with a £10 note and gets £5.80
change.

What is the cost of one pen?

Work out the difference in height between
the Mont Blanc and the smallest mountain
in the table.

Mountain Height

Mont Blanc 4,809 metres

Ben Nevis 1,334 metres
Carrauntoohil 1,038 metres

Mount Vancouver

4 812 metres
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Name: Primary 5-a-day
23rd April A
122 75% of 60

The rule to get each number in a sequence
is

subtract the previous number from 120,
then divide by 2

Write the two missing numbers

() 50 35 425 ()

Conor has three discs.
Each disc has a 7 on one side and a 9 on
the other.

He flips all discs and adds together the
three scores.

How many different totals can he get using
the three discs?
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The increases in bus fares is shown below

Bus Fares
old fare new fare
58p 67p
74p 90p
92p £1.10

Siobhan’s old bus fare was 74p.

How much is her new bus fare?

Clinton’s new bus fare is £1.10.

How much has his bus fare gone up?

Complete the tally chart

A A AB B CAAIZBUC

A C B COBAAATZCB

Letter Tally Frequency
A
B
C
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11 x 11

A song lasts 2 minutes 54 seconds.

How long does the song last in seconds?

6cm

20cm

Work out the perimeter of the rectangle

By 10am,
87 cars had left the car park
251 cars had entered the car park

At 9am, there were 612 cars in a car park.

How many cars are there in the car park at
10am?
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26 x17 = 3,000 —

300
Simplify m

There are 1,200 fans at a rugby match
between Malone and Ballyclare.

75% of the fans support Ballyclare.

How many fans support Malone?

Write down three factors of 60 that are
also factors of 45

Two 2-digit numbers multiply to make 198

Write the two missing numbers

(1) = (] )= 198
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